| > restart

Sistema| 1]; Sistema[2 ]

— x, (1) =2x,(1) + 3 x,(?)
o X, (1) =x, (1) + 4 x,(1)

> Solucion = dsolve( {Sistema}, {x[1](t),x[2](¢)}) : Solucion[1]; Solucion|2 ]
x(t)=c e +ec,e’

S5t

X, (1) = — +c,e

> ComprobarUno = simplify(eval(subs(x[1](t) =rhs(Solucion[1]),
=rhs(Solucion[2]), lhs (Sistema[1]) — rhs(Sistema[1]) =0))
ComprobarUno := 0=0

=> ComprobarDos = simplify(eval(subs(x[1](t) =rhs(Solucion[1]), x[2](¢)
)

=rhs(Solucion[2]), lhs (Sistema[2]) — rhs(Sistema[2]) =0))
ComprobarDos = 0 =0

x[2](7)
)

> restart

> Sistema = diff (y[11(t), 1) =y[2](0), diff (v[2](1), £) =y[31(2). diff (V[31(2), 1) =6-¥[1](1)
+4-y[2](t) — 2-y[3](¢) : Sistema|1]; Sistema[2]; Sistema|[3 ]
(

d
& M0 =0

d
E yz(t) :y3(t)

d
o O =600 400 = 255()

> Solucion := dsolve( {Sistema}) : evalf (Solucion[1], 2); evalf (Solucion[2], 2);
evalf (Solucion[3 ], 2)
2 (1) = (=079 + 0.0019 1) ¢, ! 770D 4 (039 + 0.040 1) ¢, e 770D+ (0,51

—0.0251) ¢ o(19=0.00401) ¢
: 3

(1) =c, o(T13 00290 1 4 c, o 72700200 ¢ 4 c3 o(1:9=0.00401) ¢

¥, (1) == (134 0.0291) ¢, e 7 7PV — (27 4 0.0201) ¢, e 77D+ (1.9
_ 0.0040 I) 03 e(l.9 —0.00401) ¢
> Ecua = diff (v(1), 183) + 2-diff (y(1), 152) — 4-diff (y(t). t) = 6-y(t) =0
3 2

d d d
Ecua = — 2 = 4= _ -
cuai= -5 y(t) + oy y(1) & y(t)—6y(1)=0

=> Sol := dsolve(Ecua) : evalf (%, 2)

(1) =c, o(T13 00290 ¢ 4 c, o(~27=0020 ¢ 4 c, o(19=0.00401) ¢

> Sistema = diff (x[1](t), t) =2-x[1](¢) + 3-x[2](2), diff (x[2](2), ¢t) =x[1](¢t) + 4-x[2](?) :

0y

()]

(©))

(C))

(©))

6

@)

®



> evalf (Solucion[1],2)
¥, (1) =(—0.79 + 0.0019 1) ¢, &' "> 74D 4 (=039 + 0.040 1) ¢, e! 77D 4 (0.51 )

—0.0251) ¢ o(19=0.00401) ¢
. 3




